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200 M2l 45,171,513 46,015,377 843,864
210 ZaE N 2= 1,754,843 2,165,341 410,498
216 OlXt==& 1,754,843 2,165,341 410,498
21601 B30=0l1At 748,835 839,474 90,639
OlI=Z2OIkt = 839,474
216-02 QI2tEXt=23|+=0[Xt 1,006,008 1,325,867 319,859
S2IE 83 0K+ = 1,325,867
220 AIE N2l 43,416,670 43,850,036 433,366
224 M3 30,000,000 25,000,000 25,000,000
22403  J|EtRIHNEAZ 0 25,000,000 25,000,000
2ABISH M3 = 25,000, 000
225 OE=20== 9,127,862 11,954,140 2,826,278
22502 OIEsaE=s 7,916,000 11,083,000 3,167,000
Gl zata=a = 11,083,000
22503  OIEZ0I K==L 1,211,862 871,140 A340,722
s2ellla HEZO0IRt = 871,140
226 sSA=d3a+Y 4,288,808 6,895,896 2,607,088
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22601  QIRtElt=3l=L 4,288,808 6,895,896 2,607,088
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600 XIZIH LU XI=2l == 53,980, 129 46,096,669 A7,883,460
630 Gl XI=3l== 53,980, 129 46,096,669 7,883,460
631 OIXl=3l= 53,980, 129 46,096,669 A7,883,460
631-01 OIXIZal= 53,980, 129 46,096,669 A7,883,460
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